HENIEL &

r3

AT

B ROFEXLELL,

DI19-6-9—4=

@ 6+(7T— 1 —4)=

@ IX(8—1)=

@ 3x9-9=

® 5X2X(8—6)=

® 4%xX2+5%X3=

@D 5+ 1 %xXx3=

6X(10+2)=

@ 20— (5+9) =

O 4+4—-1 =

@M 5%X(8—12+3)=

/20

@ 7x9-24+6=

@ H6+-8%X7=

@I1—6-(8—6)=

® | +45+5 =

©®72+8—-15+5=

@ 40+-5%x(7—1)=

®7XxX(I-7)+9 =

@2—-1+5=

@ 8X(3+7)=




HENIEL &

BOROFAEZLELLD,

@qX(8—|)= 63
@ 3x9-9= 18

®5x2x(8-6)= 20

@5+ 1 X3=

6X(10+2)=

@ 20—-(5+9) =

30

Oa+4—1=

/20

@M5%(8—-12+3)= 20
@ 7x9-24+6= 59
@ 56+8%x7= 49

®11-6—(8—6)= 3
® I +45+-5=| 10

®72+8-15+5=| 6
@ 40+-5%X(7—1)=| 48
®7x(q-7)+9= 23

@2—-1+5=

@ 8x(3+17)=

80




